
Wyznaczenie reakcji:



∑
X = HF − 10kN· cos 30◦ = 0 =⇒ HF = 8, 660kN∑
MLB = −3m·VA + 12 · 3

kN
m · 3m·

2
3 · 3m + 3

kN
m · 3m· 1, 5m = 0 =⇒ VA = 7, 500kN∑

MLD =
1
2 · 6
kN
m · 6m· (

2
3 · 6m + 2m) + 16kNm− 8m·VA − 2m·VC = 0 =⇒ VC = 32, 000kN∑

MF = −10kN· sin 30◦· 2m− 2m·VE + 16kNm− 6m·VC − 12m·VA + 12 · 6
kN
m · 6m· (

2
3 · 6m + 6m) = 0 =⇒ VE = −48, 000kN∑

Y = VA + VC + VE + VF − 10kN· sin 30◦ − 12 · 6
kN
m · 6m = 0 =⇒ VF = 31, 5kN

Sprawdzenie:∑
MA = −

1
2
· 6kN
m
· 6m· 1

3
· 6m + 6m·VC + 16kNm+ 10m·VE + 11m·VF − 10kN· sin 30◦· 14m = 0


